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Q7. Babu is the neighbour of Rahim and his house is 200 m north-
west. Joseph is the neighbour of Rahim and his house is 200 m south-
west. Gopal is the neighbour of Joseph and he lives 200 m south-east.
Roy is the neighbour of Gopal and his house is 200 m north-east.
House of Roy is in which direction with respect to the house of Babu?
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Q8. Rimyaz walked 90 meters north of her house and then turned to the right and
walked 60 meters to the market. Then, after walking a few meters to the left market,
she reached the post office, from there she again turned to the left and walked 160

meters to the school. If the pneumatic distance between Rimyaz's house and school
is 260 meters, then what is the pneumatic distance between market and post office?
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Q8. Rimyaz walked 90 meters north of her house and then turned to the right and
walked 60 meters to the market. Then, after walking a few meters to the left market,
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meters to the school. If the pneumatic distance between Rimyaz's house and school
is 260 meters, then what is the pneumatlc distance between market and post office?

6O
(1) 180 m gc W\@ Co Poﬂ’ OFR“

(2) 120 m
(3) 150 m & (G0) ek
4) 100m -
) ek @%)1: (A <f'+(5c)z
L Z
go mertd\ &Z@)’L: L\O") +kgc)







Q9. Khelsingh and belsingh start walking from the same point and
both are 35 km in opposite direction. Let's go. khelsingh turned 25 km
to the left. Moves Belsingh turned 25 km to the left. Moves How far (in

km) are they from each other? m? AR m? T gl ﬁg
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Q10. A farmer is preparing his farm. He takes his tractor out of the garage and walks
5 km to the east. Drives From there turn right and 6 km. Drives Then, he turns right
and walks 8 km. Drives Then, when his tractor goes bad, he turns right and walks 10
km. Drives What is the shortest distance between his moving place and the garage?
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Q10. A farmer is preparing his farm. He takes his tractor out of the garage and walks
5 km to the east. Drives From there turn right and 6 km. Drives Then, he turns right
and walks 8 km. Drives Then, when his tractor goes bad, he turns right and walks 10
km. Drives What is the shortest distance between his moving place and the garage?




Q11. A child is looking for his father. He went 90 metres in the east before turning
to his right. He went 20 metres before turning to his right again to look for his father
at his uncle’s place 30 metres from this point. His father was not there. From there
he went 100 metres to his north before meeting his father in a street. Now how far
he is from his starting point? T §<dT 39a [T Y ToTer - | %I dg 39«l
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Q11. A child is looking for his father. He went 90 metres in the east before
turning to his right. He went 20 metres before turning to his right again to
look for his father at his uncle’s place 30 metres from this point. His father
was not there. From there he went 100 metres to his north before meeting
his father in a street. Now how far he is from his starting point?
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Q12. A watch reads 4:30. If the minute hand points East in which
direction will the hour hand point? T& ©3I 4:30 9&d! gl afe
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Q13. Mahesh is facing North. He turns 135°in clockwise
direction and another 2259 in the same direction and then
2700 in the anticlockwise direction He turns 180° in left
direction. At last he turn 45° right direction. In which
direction he is facing now ? H%Qra»‘rﬂ'@'@a?ram%l dg
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Q14. Mahobia is facing North east. He turns 157° in
anticlockwise direction and another 115% in the clockwise
direction and then 69° in the anticlockwise direction He turns

123 in right direction. At last he turn 34° right direction. In
which direction he is facing now ? HgITSAT HT A& 30T I I
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